

$$a+b = \frac{1}{b} \rightarrow a = \frac{1}{b}$$

نفسه

$$\frac{f^2}{\partial p^r} + \frac{p^a}{\partial p^r} = \frac{f^2 \cdot \frac{1}{p}}{\Delta p^r} + \frac{p^r}{\Delta} = \frac{1}{\Delta p^r} + \frac{p^r}{\Delta} \rightarrow \frac{1}{\Delta} \left(\frac{1}{p^r} + p^r \right)$$

$$\frac{1}{\Delta} (a^r + p^r) = \frac{1}{\Delta} ((a+b)^r - r a p (a+b)) = \frac{1}{\Delta} (\Delta^r - r \times r \times \Delta) = \frac{1}{\Delta} \times 9 \Delta = \boxed{9}$$

جواب: 9

$$-f = 9a + r b + c$$

$$-f = r_1 r_2 a - 1 \Delta b + c$$

$$9a + r b + c = r_1 r_2 a - 1 \Delta b + c$$

$$9a = -f \Delta b$$

$$r_2 a = -1 \Delta b \rightarrow -b = \frac{r_2}{1 \Delta} a \rightarrow -b = \frac{1}{r_2} a$$

$$b = \frac{1}{r_2} a \rightarrow \frac{1}{a} b = \frac{1}{r_2} \rightarrow \boxed{\frac{1}{r_2}}$$

$$\frac{\sqrt{\Delta}}{|a|} = \frac{f}{r} k \rightarrow \frac{\sqrt{f^2 k^2 - 1}}{1} = \frac{f}{r} k \rightarrow f k^2 - 1 = \frac{1}{r^2} k^2$$

$$\frac{f}{r} k^2 = 1 \rightarrow \frac{1}{r} k^2 = 1 \rightarrow k^2 = r \rightarrow k = \pm \sqrt{r}$$

$$\left[\frac{k}{r} \right] = \left[\frac{\sqrt{r}}{r} \right] = \boxed{\frac{1}{\sqrt{r}}}$$

$$y = a x^2 + b x + c \rightarrow c = 1$$

$$9a + r b + c = r_2 a - \Delta b + c \rightarrow 1b = 1f a \rightarrow b = r_2 a$$

$$a + b \rightarrow \frac{1}{a} = -\frac{r_2}{a} = -r$$

$$(a+b)^{-1} r_2 a = \Delta \rightarrow -r_2 a = \Delta \rightarrow -r_2 a = 1 \rightarrow a = -\frac{1}{r_2}$$

$$\frac{c}{a} = \frac{1}{-\frac{1}{r_2}} \rightarrow c = -\frac{1}{r_2} a$$

$$\frac{-\Delta}{f a} = 1 \rightarrow f a c - b^2 = f a$$

$$f a r (-\frac{1}{r_2 a}) - f a^2 = f a \rightarrow -r_2 a^2 - f a^2 = f a$$

$$-r_2 a^2 = f a \rightarrow a = -\frac{f}{r_2}$$

$$\boxed{c = \frac{1}{r_2}}$$

$$y = -\frac{\Delta}{r} \sqrt{r_2 a + f m} \left\langle \frac{a}{r} \right\rangle \rightarrow \Delta + \sqrt{r_2 a + f m} \left\langle a \right\rangle \rightarrow \sqrt{r_2 a + f m} \left\langle \frac{a}{r} \right\rangle$$

$$r_2 a + f m \left\langle \frac{a}{r} \right\rangle$$

$$f m \left\langle \frac{a}{r} \right\rangle$$

$$m \left\langle \frac{a}{r} \right\rangle$$

$$\Delta \rightarrow r_2 a + f m \rightarrow f m \rightarrow r_2 a$$

$$-\frac{r_2}{f} \left\langle m \right\rangle < -\frac{9}{f}$$

$$\rightarrow \frac{r_2}{f} \left\langle m \right\rangle < -\frac{9}{f}$$

$$\rightarrow \frac{r_2}{f} \left\langle m \right\rangle < -\frac{9}{f}$$

نفسه

المقدّمات

$$\frac{-\Delta}{\xi a} = r \rightarrow \xi a c - b' = \lambda a \rightarrow \xi (\delta m' - m) - 1 \xi \xi = \lambda m$$

$$r \cdot m' - 1' r m - 1 \xi \xi = 0$$

$$1 \xi \pm \sqrt{1 \xi \xi - \xi (-r \lambda a)} = \pm \sqrt{\xi} \rightarrow m = r$$

$$\frac{-b}{r a} \rightarrow \frac{1' r}{\xi} = \boxed{r}$$

$$a' = \alpha \beta \rightarrow a' = \frac{\xi}{a} \rightarrow a' = \frac{r a - 1}{1} \rightarrow a' = r a + 1 = 0$$

$$(a-1) r = 1$$

$$(a=1)$$

$$\begin{aligned} a' &\rightarrow t \\ \xi' &= v \xi \cdot \delta = 0 \\ \xi &= v \\ \delta &= -\delta \end{aligned}$$

$$r \times r \delta - r \times (-v \delta) + r \times v$$

$$\delta \cdot + 1 \cdot v + 1 \xi = \boxed{149}$$

$$\begin{aligned} \frac{-b}{r a} &\rightarrow \frac{\xi}{r \kappa} \text{ مبدئياً} \\ \frac{-\Delta}{\xi a} &\rightarrow \frac{-\xi \kappa - \xi}{\kappa} \text{ مبدئياً} \\ &\rightarrow \frac{-\xi \times r - \xi}{r} = \frac{-1 \xi - \xi}{r} = \boxed{-1} \end{aligned}$$

$$\begin{aligned} \frac{-\xi \kappa - \xi}{\kappa} &= -\xi \times \frac{\xi}{r \kappa} - \xi \\ &\rightarrow -\xi \kappa - \xi = -\lambda - \xi \kappa \\ \xi &= r \kappa \rightarrow \kappa = r \end{aligned}$$

$$\begin{aligned} -m a' + m a + 1 &= -m - a \\ -m a' + m a + a + m + 1 &= 0 \\ -m a' + (m+1) a + m + 1 &= 0 \\ \Delta < 0 &\rightarrow m' + r m + 1 - \xi (-m' - m) < 0 \\ m' + r m + 1 + \xi m' + \xi m &< 0 \end{aligned}$$

1. قابل جمع عدد صحيح في عدد

$$\begin{aligned} m' + r m + 1 &< 0 \\ m' + r m + 1 &\rightarrow (m+1)(m+1) < 0 \\ \frac{-1}{\delta} &= \boxed{-1} \end{aligned}$$

$$\begin{array}{c} -1 \\ + \quad - \quad + \quad - \quad + \quad - \quad + \\ -1 < m < -\frac{1}{\delta} \end{array}$$